X

HIBER (AEAT)

L=16. Om
WAt T =517, 6m

HEBATL N=200%&
(D29 L=4.0m)

$=1:500

®’aAVY U — b (t=Tom)
A=45. 6m2

SECT 0.0

SECT 16.0

=~
o Ges 17 | mgin
HUSTT ¢ G Raouss

x1L (RE7)

15380

V759. 88

1§§iﬁgfflil $=1:100

SECT. 4.0
GH=744.39
Fh=

2900

12700 3210

DL=740. 00

V157.94

14030

BILREE
®EL)

SECT. 0.0
GH=743. 90
Fh=

V74391

11270

DL=740. 00

SECT. 4.0
C(SE) 21.0
G(SR) 8.4
W 2.9
SECT. 0.0
G(SE) 0.0
C(SR) 0.0
W 0.0

%2
= Ty "
L5 =
% 676 &
IH% ERKEEIRTE
miE BEsRK (ERMLMET=ANA EEEL)
HE4 &R
ERERR SM2%E 88
R BR ‘ HEES ‘ 1/9
24 #ARH FAEFIVYLEUH

ER®




¥ =19KN/m3
(EUOEEL)

7 =19KN
(DL#&E

=19
DL#&

m3

BEHEAT
AaEELE
NESOEIDEE L

KN/m3.

i)

¥ =22KN/m3
(DH#R 5 ) )

HEEN
(N=Nd

HEENS
(N=Nd.

&
1

LB E
(Nd=11

=8 tves]
®wEI)

AT
@)

V162.78

17330

&
-
%

SECT. 12.0
GH=745.39
FH=

BAILR

fE (18)

QAN
A
X v
%
20005
2570 “
V162,01 15250 2980 j
DL=740. 00
SECT. 8.0

GH=744.96
Fh=

11840

o

5930

6300

DL=740. 00

SECT.12.0
C(SE) 17.9
C(SR) 23.0
W 2.6
SECT. 8.0
C(SE) 21.0
C(SR) 16.3
W 5.9

%2
= Ty "
L5 =
% 676 &
IH% ERKEEBTE
miE BEsRK (ERMLMET=ANA EEEL)
HE4 &R
ERERR SM2%E 88
R 1:100 ‘ HEES ‘ 2/9
24 #ARH FABFIVYLEUE

ERT




SECT. 24.5

GH=747. 00

F=

DL=740. 00

7890

SECT. 16.0
GH=745.79
FH=

V745.79

DL=740. 00

SECT. 16.0
C(SE) 0.0
C(SR) 0.0
W 0.0

SECT.24.5

G (SE)

C(SR)

W

w2
3| "y
1 ==
%676 2

ERKEGATE

TEE i ME, AR (ERGLOE =AM BESE
BE4 BHE
#mERE S524 88
®R 1:100 BEES 3/9
24 HRRH RARRIYLEL L

BREL

ER®




KER PIN-DI VY-
Javy | &S L L2 L3 s it

1 5.0 17.8 16.0 19.40 30.0

2 16.0 5.1 15.7 18.40 30.8

1 3 15.7 3.9 17.0 18.30 29.8

4 17.0 2.6 18.0 18.80 20.9

5 18.0 5.3 21.8 22,55 36.4

it 165.9

6 22.2 3.1 21.6 23.45 33.2

7 21.6 5.3 19.4 23.15 49.0

2 8 19.4 5.5 19.8 22.35 53.2

9 19.8 1.4 10.9 21.05 50.8

10 10.9 5.4 10.8 13.55 28.4

it 214.6

ait 380.5

DL=740. 00

V743.91

SECT 0.0

T A5RT - KB

SECT 4.0

SECT 8.0

WEFEHRT

SECT 12.0

5=1:100

SECT 16.0

178949

27899

6.5

10.6

19.0

V757.94

T _16.0

5.0

3539

7047

1.1

3.2

6009

4577

3.1

5.0

V759.00

V762.01

V145.09

V745.09

V745.45

5.4

5.4

V1753. 68

SECT 0.0

SECT 4.0

SECT 8.0

SECT 8.0

SECT 12.0

SECT 16.0

V745.79

ERKEGATE

TEE i BE, AR (ERGLOE =AM BESE
BE4 BHE
#mERE 24 88

®R =S ‘@E§% 4/9
24 Btait RARBILHASL L

BREL

ER®




WT#T - BRI $=1:100

PeprmE 300 % 300 - # /X2 :1500 x 1500

° ° ° ° -
o - o« N ©
5 5 5 - -
& & 5 2 2
& B
WG EHT
178v9 27avy
6.5 10.6 19.0
3.5 7.0 8.1 7.1 3.2
6.0 4.6 3.1 ) 5.0
B #h#f (£=10)
v262.78
1 (t=10) v162.01 e
S
3.1
178y (1:0.7~3F YD) w759 88 2789y (1:0.7~FYDI$)
Wefit & #T (300 x 300-1. 5mx 1. 5m) Z Wefst %42 T (300 x 300-1. 5m 1. 5m)
V759,00 ,/
MER L 124.4m Z SEE U 162.7 m
WiER L2 6.4 m - BFEE L2 152.0m
= /
SR L3 1n.8m V751.94 / L BIFER L3 19.6m
ZAM N 84 & / e ZEM n 116 &
EHEE L 27.4m A\ EHEE L 299.5 m
L= L1+L2+3) - 0.3 x n / \\\% L= (L1+2413) - 0.3 x n
/ / A N\
§ o \
8.9// " / 3 V755,65 vsses W : N
: I 3
i / / \ \ NG V153,68
// / / Whe \ N\
9.0, - / _ v154.43 V154,43 s . N\ 11
7 = A : \
1 / / A \ \\
9.1 / [ v153.20 v\ . W11 9
/ 7 / \ \ \
7/ / < W[l \ \
9.1/ , o v751.97 viste = :
: :
/ / \
/ / / A\ \
9. 2/f) , [ w04 v150.74  \\\ : \
- N :
/ ] / N 3
/ / / I\ \
9.3//, . V749, 51 V749,51 \ . \
h L \ T
/ / / A\ \
| SR \\‘\ o N \\
9.4/f / . = V748,28 V748,28 W : A \11.4
- - i : :
/ / / \ \ \
/ / / \ \ \
9.4/f [ : V747.05 V747.05 \ T W13
4 T \
/ / / 2\
/) / / W\ | 9.3
9. 54 : V745. 82 V745,82 \L| 09
N/ o = V745,21 V4521 =
V744,09 | FERE== v145.79
V74545
V74391 6.5 3.5 1.1 | 3.2
10.0 7.0 8.1 10.8
DL=740. 00
- o
pi e - pt o < 782
- i s s c - = %
5 5 5 5 5 5
2 2 3 3 2 3 i =
% 676 &
IH% ERKEEIRTE
miE BEsRK (ERMLMET=ANA EEEL)
HE4 &>
EREARE T2 8A
R BR ‘ HEES 5/9
24 #ARH RABFIVYLEUH

BREL ER®




AL - BBEX $=1:100
27w 300 % 300 - #R/\>:1500 % 1500

JLI
Bs & # n = HIFLE HIFLE
O HHEAT D29 L=4.0m $65 3.60
o EFUN— D19 L=0.8m — 0.40
° ° ° ° -
o ~ o« N ©
= 5 IS - e
g g g g g
& P ;
BHEAL HEXR
WAEIT & W By + ® [/ & &t
== 1Javs | & 69 15 o4
178vs b SEFAT B
Y 278v4 25 L4 Som 27094 E 58 58 116
e
65 10.6 190 ait (ZN X 127 73 200
HIFLE (¢ 65) — B &4 m 451.2 262.8 720.0
3.5 7.0 8.1 1.1 3.2 A B 3 2.1 1.2 3.3
6.0 4.6 3.1 ) 5.0 E 1) HIALR= INX3.6m
SE.2) GEAE= (0.06572% /4% 3.6mx IN) x1.4
~ — e =
v262. 78 EF7U0HN—I HER
V762.01 2 Bf * ® BA1 & &t
17avs EY 69 23 92
FFUHN—I
019 L0 30m 27894 E 58 66 124
&5 (IN) EY 127 89 216
—[7150.868 HIFLE (¢ 65) = B EtH m 50.8 35.6 8.4
V759,00 A B 3 0.2 0.2 0.4
s
=i 1) MFE= INx0.4n
=/ E.2) EAR= (0.06572x 7/4%0.dmx IN) x 1.4
V7157.94 /
/
/’/ : N
s 7 N -
/ / A\ MEEHE
N
1 ‘ 2N & B t B w1 & &
/] 7
/ / N HHEAL m 457.2 262.8 720.0
ay / 0 "
/i : / V755,65 V755.65 W : N HIRR(O90) [Ty ooy 7 | n 50.8 35.6 86.4
i j A i - SEELGE
/f / / AN \ \\ V153,68 & &t m 508.0 298.4 806.4
/ ! J \ \ NN,
[/ . V754,43 V75443 \\\\ : AN SEEAT m3 2.1 1.2 3.3
# } f *
// / / W RN AR | x7VA-T | m 0.2 0.2 0.4
i I y AR\ h i =
/! y v753.20 T I\ ‘ A\ & A&t m3 2.3 1.4 3.7
7 : / W ‘ \
/ / W, \ \
i I v151.97 V751,97 A\ h\
/ X : i
//// / / \\\\\ h \\\\
(1 . [ vis0.14 v150.74 A\ i \ 1\\
; ! o :
/i / / N\ \ i\
i / / W \ \
. V749,51 V749,51 A\ . A
F 1 \Y\\ I
'/ / / \ ‘\\
i \ A\
i /! : V748.28 748,28 \ : \ \
; f
/ / \ \ A\
//,/ // / / \\\\\\ \ \\\\
i/ / : V7147.05 V14105 A\ : \ i\
- : \ I
) / / W
// / / A\
// . V74582 V745.82 N .
/// _il) vms.21 v745.21
7
V744,09 = =
v145.79
V74545
V74391 65 - - s
10.0 7.0 8.1 10.8
DL=740. 00
S e < - o < = e
g g 2 g 5 5 5
g g 2 8 g 8 i =
% 676 &

IH% ERKEEIRTE
Ml Mo R (ERMLIET=AN FBEEL)

RES HEE

ERER B FR2E 8A
#aR =k ‘ HEES 6/9
R4 #ASH RABFa VLIV E

BREL ER®




SERERK

MRAT#ET -

E=d 01|

PedmE :300 % 300 - # X/ :1,500% 1,500
(RB—7 7 D100250)

$=1:30 AL
Q@ | $EEAL (D29 x 4000)
o X7 > Hh— (D19x800)
o | W7 > Hh— (DI13x500)
BHEAL 300 1200 300 1200 300 1200 300
D29 x 4. 00m ‘ ‘ ‘ ‘ ‘ ‘ ~ ‘ ‘
[ S5 A5
D19 L=800 ‘ ‘ ‘ | | |
. . i =l
ﬂ Il imll
\4@; liiJiL XX XXX, L] [ =
—c= \“ = —~— [T Tp@[ [-T [ To@f [-] 8
=—alFFr— el —
] | | I IH
s | L | 4‘ I ‘*‘ ‘*‘ S
il A A IH| .. . - 2
‘7‘ ‘7‘ VP50
‘ ‘ 3 iz JLlL Z a2 ’
P2 ] _ L a
———elo-————— o[- T 4@l [~ [~ bal =] 8
| | A | ] £ [ m
‘ ‘ ‘ Iml Ial N
g _RERMRHT Inl Inl I g
h L ‘ (=sem ‘ 4]]‘ Il Isal 28—5 7 DIO g "
I=l \ =
lffJf _ ) 45— S
| il T = . s s
[y e e i £ ;
=y |
/ * gl x|
‘ ‘ ‘ — | | |
5 DI3
HWY7oh—
D13 L=500
225| 3@250=750 |225
1500 1500 1500
T5
*ﬁﬂ&gﬂgfﬁgiﬂl $=1:30
1 -1 2 -2
300 1200 300 1200 300 1200 300
|
- - 4 -
8] ,77“7777“77) - Ll =
y
TFUN— |
D19 L=800
wHwWM7 o H—
D13 L=500
HEFAT
D29 x 4.00m

300

$=1:30

3 -3

A-AlfTE

1:6

300
65 170 65
8
S F#H-DI3
8
RE—5v7

SEE EER - TEREEME $=1:30

D10@250 L=(170+13) x 4=740mm/Z

18N/mm2

Fiwarsy—+

18N/mm2

Kxgars)—+

RiEavyy—+
18N/mm2

&)

&7

B 2D
= Y
#H =

% 676 =
e R IR L S
BES ®itE
#mEAR TH2E 88
R BR ‘ HEES 1/9
244 et BARBILHLLL L

BREL

ER®




BREEAL - B

fiﬁ'ﬁ*ﬁj\l (D29\ L=4. Om) $=1:5

Ay FHAES
*CHRHEE
(D29 SD3457RJL b A w )
(P [ S— £ ‘ I <
—— e _-— Sa—————— h
< hyF5— 5% EAM
XBEIZI C A
SEEA L=4000

ﬁ = Y Y

b An (5E&X)
HEFy b D2 Ay RR—4— (D29F)

&
@O+ B == i

46 60 130
56

Ay xfAES HET v r— (D0F) Avk HhyT5— (D) Av*

L 4 1 11 © ==E O =) (G
N %0 1 =
{i XBBRRIC &Y BB LERT B
150 70 % 676 B
IH% ERKEEIRTE
Tl WEy RS (ERM LA = AR EEEL)
HE4 e
REAR TH2%E 8
BR BF HEES 8/9

R4

ER®

BREL




sk )— bk $=1:20

N \ W=5930~0

WA i

N\ BESR S

\ 2.000%
A T

L_|
avy)—+k
18N/mm2
MRR 10m235 Y
& B B B mE
avsy—t 18N/mm2 3 0.700
LI — g w2 | 0.070/m

Gr-C-2B

$=1:20

700

i

TAIT7ILE ;Zi

XIEEILEIIL

Co

400

1100

¢ 180)

B 2D
= Y
#H =

% 676 =
e R IR L S
BES BiHE
#mEAR TH2E 88
R BR ‘ HEES 9/9
244 et BARBILHLLL L
BEES R




